	1



5





10




15




20




25




30




35




40


	[image: image1.jpg]


"I shall begin at the beginning," said the D.H.C. and the more zealous students recorded his intention in their notebooks: Begin at the beginning. 
"These," he waved his hand, "are the incubators." And opening an insulated door he showed them racks upon racks of numbered test-tubes.
[...] He pointed. On a very slowly moving band a rack-full of test-tubes was entering a large metal box, another, rack-full was emerging. Machinery faintly purred. 

It took eight minutes for the tubes to go through, he told them. Eight minutes of hard X-rays being about as much as an egg can stand. A few died; of the rest, the least susceptible divided into two; most put out four buds; some eight; all were returned to the incubators, where the buds began to develop; then, after two days, were suddenly chilled, chilled and checked. [...] 
By which time the original egg was in a fair way to becoming anything from eight to ninety-six embryos– a prodigious improvement, you will agree, on nature. 
Identical twins–but not in piddling twos and threes as in the old viviparous days, when an egg would sometimes accidentally divide; actually by dozens, by scores at a time. But one of the students was fool enough to ask where the advantage lay.
"My good boy!" The Director wheeled sharply round on him. "Can't you see? Can't you see?" He raised a hand; his expression was solemn. "Bokanovsky's Process is one of the major instruments of social stability!"
Major instruments of social stability.
Standard men and women; in uniform batches. The whole of a small factory staffed with the products of a single bokanovskified egg.
"Ninety-six identical twins working ninety-six identical machines!" The voice was almost tremulous with enthusiasm. "You really know where you are. For the first time in history." He quoted the planetary motto. "Community, Identity, Stability." Grand words. "If we could bokanovskify indefinitely the whole problem would be solved."
Solved by standard Gammas, unvarying Deltas, uniform Epsilons. Millions of identical twins. The principle of mass production at last applied to biology.
"But, alas," the Director shook his head, "we can't bokanovskify indefinitely."
Ninety-six seemed to be the limit; seventy-two a good average. From the same ovary and with gametes of the same male to manufacture as many batches of identical twins as possible–that was the best (sadly a second best) that they could do. And even that was difficult.
"For in nature it takes thirty years for two hundred eggs to reach maturity. But our business is to stabilize the population at this moment, here and now. Dribbling out twins over a quarter of a century–what would be the use of that?"
BRAVE NEW WORLD, Aldous Huxley (1894-1963) - 1932


1. Introduce the document. (nature – author – date – topic – place - ...)
2. Make a list of all the words related to technology. Which refer to the following definition? a)  A common piece of laboratory glassware consisting of a finger-like length of glass – b) The production of large amounts of standardized products – c) A mature sexual reproductive cell – d) An apparatus used for hatching eggs – e) They are widely used to image the inside of objects 
3. Read the text again and find the equivalents to the following words or expressions
a) earnest – b) feebly, slightly – c) dignified – d) a group of 20 items  - e) to make resistant to change – f) to spend time in an ineffective way
4. Here is a list of words. Find words belonging to the same lexical fields in the extract. They can be verbs, nouns or adjectives : a) a cat - b) a shell -c) mammals – d) a rose
5. According to you, what does the acronym D.H.C. stand for? Director of Human Centre - Deputy High Commissioner - Director of Hatcheries and Conditioning
6. a) Find words or expressions related to the lexical field of enthusiasm. 
b)  Pick out the elements referring to the D.H.C.'s body language. What do these elements reveal about the D.H.C. and his ‘mission’?
7. Why are the ‘products’ processed in this factory so peculiar? Find 5 synonymous adjectives to describe them.
8. What is the root word of 'bokanowskify'? Why did the author choose a Russian name?
9. Can you put the steps of Bokanowsky's process in their chronological order? 
a) They give birth to ninety-six identical twins
b) The test tubes enter a large metal box.
c) The egg becomes an embryo
d) After two days the buds are chilled and checked.
e) The test tubes are exposed to hard X-rayed for eight minutes
f) The eggs are returned to the incubators
10. The D.H.C. never uses the word 'people' to talk about the individuals born in the incubators. Make a list of the expressions he uses. What does he identify them with?
14. What are the 'Grand words'? To what extent is Bokanowsky's Process one of the major instruments of social stability?

15. Written expression : To what extent do you agree with the idea that bodies should be genetically modified for the sake of the human race? (150-200  words)
